	w[bKeD gZso-rfDs-7     ividAwrQI dw nW………………………………… rol nM………………………

skUl…………………………………

ijlHw…………………………… (ssA) pMjwb [

                                               g';NbkJhB $ckJhBb  w[bKeD  -  wkou 2013  

	;obsw o{g ftZu fby'
	gfow/: ;zfynk pDkU fiBQK d/ nzô ns/ jo fJ; soQK jB
	bH;Ht gsk eo'
	wH;Ht gsk eo'
	fe;wK d/ nXko s/ fse'DK d/ Bkw fby'
	ykbh ;EkB Go'

	    9

            =

  27

   21

            =

   63

 – 40

            =

    45

  – 84

            =

  – 18

   25

            =

  125
	nzô = 8 + 3 ns/

jo = 15 – 3

gfow/: ;zfynk =

nzô = 4 × 6 ns/

jo = 10 – 14

gfow/: ;zfynk =

nzô = 24 ÷ 8 ns/

jo = 21 – 0

gfow/: ;zfynk =

nzô = 18 – 11 ns/

jo = -4× (– 5)

gfow/: ;zfynk =

nzô = 36 – 3 ns/

jo = 12 × 3

gfow/: ;zfynk =        
	15 ns/ 18

bH;HtH = 

60 ns/ 66

bH;HtH = 

40 ns/ 38

bH;HtH = 

24, 48 ns/ 40

bH;HtH = 

7, 9 ns/ 12

bH;HtH = 


	24 ns/  36

wH;HtH = 

12 ns/ 35

wH;HtH = 

8, 12, 16

wH;HtH = 

120, 72, 20

wH;HtH = 

44, 66, 99

wH;HtH = 


	                     

 6;w                        6 ;w

                       …………..

              8 ;w  

         

  4 ;w                      8 ;w

                         …………..

               5 ;w

  7 ;w                    5 ;w

                                    …………..

               3 ;w


 6 ;w                    10 ;w     …………..

                 8 ;w                     

   a ;w                   b ;w
                c ;w                 …………..
	9 –12 = ……………..

34 – 20 =…………..

– 6 + 6 = …………… 

– 13 - 9 = ……………

– 7 – (– 15) = ……….

	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB.
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB.

	w[bKeD gZso-rfDs-7     ividAwrQI dw nW………………………………… rol nM………………………

skUl…………………………………

ijlHw…………………………… (ssA) pMjwb [

                                               g';NbkJhB $ckJhBb  w[bKeD  -  wkou 2013  

	;obsw o{g ftZu fby'
	gfow/: ;zfynk pDkU fiBQK d/ nzô ns/ jo fJ; soQK jB
	bH;Ht gsk eo'
	wH;Ht gsk eo'
	fe;wK d/ nXko s/ fse'DK d/ Bkw fby'
	ykbh ;EkB Go'

	   28

            =

  12

   19

            =

   76

 – 75

            =

   25

  – 46

            =

  – 48

   50

            =

  180
	nzô = 7 + 8 ns/

jo = 12 – 4

gfow/: ;zfynk =

nzô = 30 × 2 ns/

jo = 9 – 17

gfow/: ;zfynk =

nzô = 48 ÷ 6 ns/

jo = 20 – 4

gfow/: ;zfynk =

nzô = 35 – 12 ns/

jo = 2 × (– 6)

gfow/: ;zfynk =

nzô = 6 – 1 ns/

jo = 11 × 10

gfow/: ;zfynk =        
	40 ns/ 15

bH;HtH = 

14 ns/ 20

bH;HtH = 

66 ns/ 22

bH;HtH = 

10, 20 ns/ 35

bH;HtH = 

6, 18 ns/ 21

bH;HtH = 


	24 ns/  28

wH;HtH = 

25 ns/125

wH;HtH = 

12, 18, 120

wH;HtH = 

9,81, 117

wH;HtH = 

21, 12, 13

wH;HtH = 


	  

6;w                          6 ;w

                       …………..

              4 ;w  

   

  2 ;w                   5 ;w

                         …………..

               4 ;w


  7 ;w                    7 ;w

                                          … ……..

               7 ;w


 6 ;w                      10 ;w     …………..

                 8 ;w                     

   4 ;w                  6 ;w
                5 ;w                 …………..
	8 – 12 =…………..

13 – 24 =…………..

0 – 10 = …………… 

– 21 +17 = …………

– 19 – (– 6) = …….

	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB.
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB.

	w[bKeD gZso-rfDs-7     ividAwrQI dw nW………………………………… rol nM………………………

skUl…………………………………

ijlHw…………………………… (ssA) pMjwb [

                                               g';NbkJhB $ckJhBb  w[bKeD  -  wkou 2013  

	;obsw o{g ftZu fby'
	gfow/: ;zfynk pDkU fiBQK d/ nzô ns/ jo fJ; soQK jB
	bH;Ht gsk eo'
	wH;Ht gsk eo'
	fe;wK d/ nXko s/ fse'DK d/ Bkw fby'
	ykbh ;EkB Go'

	    6

            =

  24

   21

            =

   22

 – 18

            =

    15

  – 30

            =

  – 42

   40

            =

  150
	nzô = 7 + 6 ns/

jo = 14 – 4

gfow/: ;zfynk =

nzô = 7 × 3 ns/

jo = 22 – 15

gfow/: ;zfynk =

nzô = 121 ÷ 11 ns/

jo = 20 – 5

gfow/: ;zfynk =

nzô = 12 – 14 ns/

jo = 3 × (– 6)

gfow/: ;zfynk =

nzô = 8 – 3 ns/

jo = 14 × 11

gfow/: ;zfynk =        
	12 ns/ 16

bH;HtH = 

25 ns/ 25

bH;HtH = 

32 ns/ 52

bH;HtH = 

8, 20 ns/ 28

bH;HtH = 

8, 21 ns/ 35

bH;HtH = 


	20 ns/  40

wH;HtH = 

44 ns/ 66

wH;HtH = 

32, 48, 240

wH;HtH = 

150, 15, 20

wH;HtH = 

12, 120, 144

wH;HtH = 


	           

 5;w                        5 ;w

                       …………..

              5 ;w  

         

  3 ;w                      6 ;w

                         …………..

               4 ;w


  6 ;w                   4 ;w

                                    …………..

               6 ;w


 6 ;m                        10 ;w     …………..

                 8 ;w                     

   3;w                         3 ;w
                4 ;w                 …………..
	8 –12 =…………..

12 – 1 5 = ………..

– 8 +1 8 = ………… 

 13 + 9 =…………

– 11 – (+5) =.…….

	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB.
	5 ftZu'A 3 mhe j'D/ ukjhd/ jB.


